Third Year B.Com. Examination, May/June 2010
(RSS)
MANAGEMENT ACCOUNTING

Time : 3 Hours Max. Marks : 90

PART - A
Answer any three questions. Each question carries 15 marks :

1. What are the reasons for emergence of Management Accounting ? Explain the
functions and limitations of management accounting.

2. The following informations are extracted from the books of ‘S’ and ‘S’ Co. for
the year 2007.

Rs.

Sales 10,00,000
Direct materials 3,30,000
Direct labour 2,25,000
Manufacturing Expenses 2,50,000
(Rs. 1,00,000 variable)

Administration expenses 1,00,000
(50% fixed)

Selling expenses 45,000

(100% variable)

From the above, you are required to calculate

a) Profit — volume ratio

b) Margin of safety

c¢) Break — even point

d) Sales required to earn a profit of Rs. 1,00,000
e) Profit when sales are Rs. 9,00,000

3. A company, producing 1,80,000 units of product ‘Rock’ working at 90%
capacity, receives an order from foreign dealer for the balance 10% capacity of
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the company at Rs. 200 per unit, although the local sales price is Rs. 375 per unit.
The present cost sheet is given below :

Particulars Cost per unit
Rs.
Materials 85.00
Labour :
Skilled (fixed) 44.50
Unskilled (variable) 48.50
Manufacturing Expenses :
Fixed 12.50
Variable 23.50
Administrative expenses (Rs.18,00,000) 10.00
Selling and distribution expenses 16.00
Total cost 240.00

a) Advise the management whether to accept the foreign order or not.
b) What will be your advise if the same order had come from a local merchant ?

4. A company working at 50% capacity manufactures 40,000 units of a product.
At 50% capacity its cost structure is as follows :

Elements of cost Cost per unit
Rs.
Direct materials 1,000
Direct labour 800
Factory overheads (70% variable) 600
Administration Expenses (Rs. 1,00,00,000) 250
Selling Expenses 150
Total cost per unit 2,800
Profit per unit 400
Selling price per unit 3,200

Prepare a flexible budget to estimate profit.

a) At 60% working capacity of the company if the material cost increases by
5% and the selling expenses decreases by Rs. 5 per unit and

b) At 85% working capacity of the company if the material cost increases by
Rs. 5 per unit and the selling price decreases by 5%.

5. What is standard costing ? Explain its advantages and disadvantages.



Answer any three questions. Each question carries 10 marks.
6. What is marginal costing ? What are its advantages and limitations ?

7. In a factory the budgeted and actual figures of the cost of materials and direct labour
cost incurred in the production during the month of March, 2009, are as under :

Particulars Budgeted Actual
a) Units of finished

good production 9,00,000 7,20,000
b) Materials in units 18,00,000 15,00,000

c) Total cost of materials Rs. 1,62,00,000 Rs. 1,20,00,000
d) Direct labour hour

( 3 units of finished
goods in one hour) 3,00,000 2,20,000
e) Total direct labour cost Rs. 1,50,00,000 Rs. 1,32,00,000

You are required to calculate :
1) Material cost variance, price variance and usage variance.
1) Labour cost variance, rate variance and efficiency variance.

8. The balance sheet to Keshava Ltd. as on December 31, is as follows :

Capital and 2007 2008 Property and 2007 2008
Liabilities Rs. Rs. Assets Rs. Rs.
Equity share Fixed Assets 7,00,000 9,50,000

capital (Rs. 10) 4,00,000 5,00,000 Less:
Retained earnings 3,20,000 6,00,000 Accumulated
Depreciation 1.60.000 1.20.000
5,40,000 8,30,000

Premium on Merchandise
Shares - 10,000 Inventory 2,00,000 1,90,000
8% Mortgage Accounts
Debentures 1,20,000 - receivable 86,000 1,00,000
Accounts Prepaid
payable 75,600 80,400 expenses 8,000 10,000
Cash 31,600 20,400
Commission on
Share 50,000 40,000

9,15,600 11,90,400 9,15,600 11,90,400



Additional information :
a) Interim dividend paid during the year Rs. 40,000
b) Depreciation for the year Rs. 40,000

¢) An addition to the fixed Asset was made during the year at a cost of
Rs.3,30,000 and fully depreciated machinery costing Rs. 80,000 was
discarded, no salvage being realised.

d) Income tax paid was Rs. 80,000. Prepare “cash flow statement”.
9. What is budgetary control ? How it differs from standard costing ?

10. Explain the advantages and limitations of marginal costing.

PART - C
Answer any three questions. Each carries five marks.
11. Distinguish between “funds flow statement” and “cash flow statement”.
12. State the sources and uses of funds.
13. Write a note on “variance analysis”.

14. Calculate the earning per share from the following data. Equity share capital
(Rs. 10 share Rs. 8,00,000). Net profit before tax Rs. 8,00,000. Taxation at
40% net profit.

15. Sri Jayanth Enterprises produces and sells a product for Rs. 2,000 each. The
variable cost per unit is Rs. 1,500. The annual fixed cost is Rs. 5,00,000. The
annual production is 2,500 units.

Plot the data on a Break-Even chart.
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